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C-62 on p 320
D CDE is an inscribed angle.

Inscribed angles that intercept the same
are congruent. %CAE is a central angle.

Measure of arc CE is 126 degrees

Measure of xCDE is 63 degrees

C-61 0onp 319.

So the measure of an inscribed angle is

half the measure of its intercepted arc OR central angle.
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%DEB is aninscribed angle.
Arc DFB is the for inscribed xDEB.
Measure of arc DFB is 180 degrees

So the measure of xDEB is 90 degrees

C-63 p 320: An angle inscribed in a
semicircle is a right angle.
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DEFINITION: any quadrilateral that will inscribe in a circle is called a

cyclic quadrilateral.

The pink and yellow arcs have measures with
a sum of degrees.

The angles marked with pink and yellow are angles.
Inscribed angles are  of their intercepted arcs.

So the sum of the pink and yellow angles is

Therefore, opposite angles of a cyclic quadrilateral are
C-64 on p 321
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EB is parallel to chord CD.

%EBC and xBCD are inscribed angles.

They are congruent because they are o angles.
Therefore arc EC and arc BD both measure _ degrees.

C-65 p 321: Parallel chords have congruent intercepted arcs.




